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Q:1 f[Rfetfds ot #Ppe o (7) 99 B
IR ?

1332+ 36x 23 +287 - 189 =?

1. 949

2.983

3.914

4.956

Q:2 fAfeTfi® sIfNsaoa WiF fAfy Tt
30% a3 180 +20 -8 x 2

1.58

2.44

3. 56

4.78

Q:3 fAtt: fawferiio dot sam@igs o (?) 9
B fF @7

750 99 42.5% = 43 G 7% - ? 99 26%

1.1875

2.2415

3. 1895

4.3985

Q:4 fARfeTis &g, SRIEF F NS W
PO AT ?

11.87% of 1200 -? x 13.8/v195 x 21.02 = -256
1.-19

2.18

3. 21

4.19
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Q:5 fAnfeifie axw@ys o (?) 9T W @
7227 TR?

345+ 15+ 450 + 45 =? — 110% of 30

1. 66

2.0

3.33

4.11

Q:6 A Y, (?7) 2haforaq e @A TS
BT T ©f Y& @ I

(15)5 + (225)2 x 3375 + (15)6 = 150 -2

1.1

2.2

3.0

4. -1

fadfa

Q:7 QU R

]

6+

Bcdl

j6 + J6 + \."'6 + .-+ upto infinite

1.-2
2.-3
3.2
4.3

Q:8 AT 94 .

[12 + 3% + 34 + 12/17 - [(18/3%) x (625/53) -
2.4]

1.1188/255

2.11808

3.17627/255

GETITON

Google Play
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4.11128/255

Q:9 JdeT H4I

400 9920% + 120 9965% - 280 99 50% =?
1.19

2. 21

3.18

4.9

Q:10 373 33

(2/3x%1/6) +(2/3%x7/2) - (13/4 % 4/3) =2
1.14/3

2.-17/9

3.29/3

4.-23/9

GETITON
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5. (1)
10. (2)

2. (1)
7. (4)

4. (4)
9. (3)

Q:1 Af3% Sadt oo faag 1 walie 949
1332+ 36 x 23 + 287 — 189 = ?

37 x23+287-189="7

851 + 287 — 189 = ?

851 + 287 — 189 = ?

1138 - 189 =7

? =949

Q:2 3153 B3 7a1 fIFg 2, wefie, 58.
BODMAS fAaw

I fout TP @it SN Bl QTP
OigSl 'aq SNIYIN FI@ @I igstd St
SIFST 3| SIS @it

a3e fawatst|

30% a3 180 +20-8x 2

=30x180 +100+20-16

=54 +20-16 = 58

Q:3 3% St o f[Ieg 1 wlie 1875

750 99 42.5% =43 49 7% - ? 99 26%
(42.5/100) x 750 = (2/100) x 43 - (26/100) x ?
318.75 = {(? x 43) - (? x 26)}/100

318.75 = (17 x 7)/100
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?=(318.75x 100)/17
? = 1875

Q:4 515 Taaf® 7 ey 4 waffe

19

11.87% of 1200 - ? x 13.8/+/195 x 21.02 = -256
12% of 1200 - ? x 14/v196 x 21 = -256
(12/100) x 1200 - ? x 14/14 x 21 = -256
144-7x1x 21 =-256

144 + 256 = 21 x ?

399 =21 x ?

? = 399/21

7=19

Q:5 35S B3 7e1 fIFg 1 @2fie 66 |
345 + 15+ 450 + 45 = ? — 110% of 30
23+10=7- 33

7= 66

Q:6 5153 Saaf® oo g 3 wafie 0
(15) + (225) x 3375 + (15)6 = 150 = 2)
= [155+ 154] x [153 + 150] = 15( - 2)
BODMAS fAamy &t &g

= 15%x153=15("2)

=152=15°-2)

=7-2=-2

=?=0

Q:7 5133 Bad o Iy 4 wAfe 3

GETITON

Google Play

f » A
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«fd

[

6 +

X= j6+ J6+\:"6+---+upto infinite

SO IHS Iof I S,
x2 = 6 +V[6V{v6....
x2=6+x
rqr
x2-x-6=0,
faate sifieac (g wive) @ I3 T

—b +b? — dac

2a

x=[1+V(1+4+6)/(2x1)
x = (1% 5)/2
x=-20r3
-2 GFB datgyd 7Lt
woqq, x =3

X =

Q:8 515 Sad o fJayg 4 waffe 11128/255 |
[12 + 37 + 34 + 12/17 + [(18/3?) x (625/5%) -
2.4]

=[12+ 9]+ 34 +12/17 + [(18/9) x (625/125) -
2.4]

=[4/3] +(34 +12/17) +[2x 5- 2.4]

= [4/3] + (578 + 12)/17 + [10 - 2.4]
=4/3+590/17 + 7.6

= 4/3 +590/17 + 76/10

= 4/3 + 590/17 + 38/5

= (340 + 8850 + 1938)/255
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=11128/255

Q:9 333 B3Afb 7t fadg 3 @fie 18.

= 400 93 20% + 120 99 65% - 280 47 50%
= 20(400)/100 + 65(120)/100 - 50(280)/100
=80 +78-140

=18

Q:10 STf3% Salt oet faeg 2 wwalie -17/9
(2/3 x 1/6) + (2/3 x 7/2) — (13/4 x 4/3)
=1/9+7/3-13/3

= (1+21-39)/9

=-17/

GETITON

Google Play

f «

>




